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«Nér’ dung di dom, cdc chu dé thuc (é, lien hé
voi nhitng su kién pho bién hang ngay.

/ Khuyén khich hoc sinh phat huy kha nang
1w duy va tri wong tugng.

\/, Gidp hoc sinh sie dung nhiéu cach dé giai
quyet mot van de, kich thich sang tao.
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3 What digit does each letter represent?

(a) (B2 218 ()
B CD o ¢
4 A ! A
A C D e
| 9 R -9 2. _AvRlR
Salution:
(a) From the above, (b) C=5andA=1
it is obvious that 5
D=3and B=1. 515
ER LA +1 5B5
C=6
9-1-1=T 2 lal
A=1T B=9

Alice’s house number is a 4-digit number. When she moves the firstdigtis
ones place, she notices that the new 4-digit number is bigger than b sl
number by 4707. What is her house number?

Solution:
Let her house number be abed and the new pumber be bl
peda - abed =411
1000k + 100c + 10d +a - 1000a —lﬂﬂb-lﬂr—d=£$
=4MN

900k — 999 + 9d + 90c

Divide both sides by 9.
100b— 1la+d+ 10c= 523

When h=6and &= 1.
489 +d+ 10c= 523
d=4andc= 3

Her house pumber is 1634.
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biéu dien cho chir S0 nao

w1 chir ca durri day
{a) ( D (b}
B € D ¢
B A ¢ D A C
| AR ) 2 A
Cach giai: )
(2) Tirnhimg gia thiét trén (hy C=5vaA
dé dang nhin thay
p=3vaB=1 5
1x6=18 s
( 6
£
V] I l r =
A=T B=9%

1 chir si. Khi d6i chd chirso hing nghin

%4 nhi cua Alice 13 mot 56ty nhién c6 4
xutng hang dom vi 1a s& nhgn dirge mot
Alice 4707 don vi. Hoi 56 nha cua Alice 12 bao nhiéu?

Cach giai:
Got 50 nhi cua Alice 1d abed v 0 mai nhiin dirge 1a beda

i . .hu.fnf |I|’J-!'|ll 4707
00058 + 100 + 10d + a— 1000a = 1006 — 10c — d = 4707
Q00h - 999 + 94 + 90 4707

Chia ca 2 vé cho 9, ta duge

1005 — I1la +d + 10e =523
Khib=6via=1,

489 +d + 10c= 523
d=4vie=3

50 nhd cua Alice 1a 1634,

& ur nhién ma&i 1om hon s0 nha cua

Binh thirc 14i iing Todn hoe - 5

>




3 How many n i
any numbers ranging fro ;

divisible by 77 ging m | to 100 are not mulﬁﬂﬂﬁ' 1 den 10O khong chia hét cho 3/ vd khong
- ) ‘ | |

Solution:
21 21, 42, 63, K

Common multiples of 3 and 7: 21,42 6384
M » 3 n o BVl My 0, cho3vac 1

& umber of multiples of 3 mgmgﬁ“m”ﬂ"l},lmv!.n e o vi ti | dén 100 1: 100 1 =33du)

Y wrong pham v | dén 100 1 100+ 7 14 dur 2

Number of multiples of 7 ranging from 1 to [00; Vseta,
1005721

A

* 1
'.J| multiples ——__——_ frdiagies) 100 1001
| of3 / o

e s

|
e
100 -(33+14-4)=357 100 — (33 + 14 —4) =57
57 numbers ranging from 1 1o 101 are not multples of s, &7 o trong pham Vi U | dén 100 khong chis hét cho 3 va khong chia

divisible by 7.
28 hoe sinh tham gia Cliu lac bo Robot, 14 hoc

5 48 hoe sinh. Co
y kich, 10 hgc sinh tham gia ca 2 ¢lu

4 Class 5D has 48 students. 28 of them join the Robotic Club. 14 of fe 4
the Speech and Drama Club. 10 students join both clubs. How masy s

4 Ciiu lac bo Dicn thuyet vi

bao nhiéi hoe sinh cia lop SD khang tham gia cdu lac b nao?

: in Class 5D do not join ¢ither of these clubs? b, Hon el
vl Solurion: Cideh gidi:
. =] -_'—H-.._,-——‘u 4 18
hd 5 ™ A'._
| [ Robotic Specch | \ b D
I & J weset (N
ot/ )
= -
= &5

43 - (28 +14-10)=18 sR-(28+14-10)= 16

join cither of these ciibs

T 5 (6 16 hoc sinh o 3 noe tl o a o lanba T
16 students in Class 5[ donot 16 hoe sinh cua 1op 3D Khong tham gia cau fie b nio
Khi cac didmg tron phu

5 (0 3 hinh tron giong nhau cd dien tich i 157em
. tinh 1ong

em’. When the :irtlm‘-‘_t{i.l“ 5 :
280 env”. 168, = 56 o =0 \én nhau thi téne dién tich duwge phi 1a 280em®. Biet S Shem

cdasaBsa ey iesenasal

cach has an area of 157

3 identical circles
hecomes

another partially, the total arca
+ 8,15

tn

1) cua S S 5

value of 5

.

Dyl thire: v niing Todn hoe - §




1 Observe the
row'!

3

LW S

following number i
pattern. What is the first n
Tty

5
13 15 I3
23 en 3

2 Find the sum of the number pattern below,

M LUYEN TAP

§  Quansatsod

2 Tinh tone cie sa frong so

da s




tarithm
s =
-
Also known as Alphanumerics, Cryptarithm is a number Puzzle whereby s b
is replaced by a letter.
Important notes:
The sum of two digits must be 18 or less.

The product of two digits must be 81 or less,

ey

1 What digit does each letter represent?

LA bsinsesnnssss

i
e ol L
Solution:
oluti ety £ C=2.
111=3=37 222+3=T74
A=3and B=7 A=TandB=4

3 What digit does cach letter represent?

A B CD
(a) A B (B) ‘ §

I 0 A

|y | &

WS olurion:

(a) 3x3=9
10 = 0+ 1 .‘ :
.r'\. = 3 Ko B ;
&3 9 c BE
3 B B=0 (otherwise there W

| ea Uk

regrouping in 1€
place.)

) TU TOAN!
o

i = e v so. T o1 s & vé cie sb
Giomg nhu cac bii win ve Chit ¢ va 50, Tu toan li mot dang cau do ve c

nhumne cac chir so di duge thay the bang cac chir cii
Laru ¥:
« Tong cua 2 chir s6 phai bé hon hode bang 18

]

« Tich cia 2 chir s phai bé hon hodge bang §1.

F;—, ; D . Y "\. ;
- . 3 -,'3 ) e
1 Moi chir il dhrdn dily biéu dien cho chir 56 nao?
A B
A B
A B
[ C [:
Cach giai: y )
Neu ( 1. New C=12,
111 =3 =737 212 +3="74
A=3viB=7 A=TvaiB=4

2 Mai chir cai dirdi diy bicu dién cho chir somiao?

(a) A B C by A B C D
. A W 0
1w A € DT B A

Citch piai:
{a) 3Ix3=9 () A=1viD=9
10=9+1 1 B C 9

I 5 Q ;-
i B 5§ Gt
3
W B=0 {nguge lai két qui sé duge nha
viao chir s hang nghin)
B=4 C=3

Haw COn vy : YET,
201 b phép todn thay thé cic chit s6 biing cic kv

37
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The most important and sophisticated technique that we will leam from this chese
is 10 be able 1o express, say, abed, which denotes a 4-digit number, in the for

1000a + 10056 + 10c +d.

The usefulness of this simple expression is to help us solve and appreciate s sige
set of mathematical problems such as Example 3, Example 4 and Question 10
this chapter.

The other category of mathematical problems, namely multiplication of =
extremely long stning of numbers, usesa simple concept (10-1=9) for probles-
solving. This concept IS demonstrated in Example 2.

Last but not least, we will learn to simplify the computation of the sum or differess
of two sets of products through skilful factorisation. Example | and Quests”

illustrate this technique.

AMPLES "}

222722 + 333333 % 333334=17

72+ 333333 % 333334
27222 +333333 % 333 334
33 x 333334

599 999
Solution: 999999 * 2222
=1333333x3 % 2
=333 333 % 666 666 + 3333
=333 333 ~ (666 666 * 333 334)
—333333~=1 000 000
— 333333000 000

Tl JUYCL vab

1000a + 100b+ 10c+d

h hiru dung cia phép biéu dién 56 don gian nay co thé gidp ching ta danh gia va

bai toan dac biét nhur Vi du 3, Vidu 4 va Bai tap 10 trong churomg nay.

ip khic 1a nhin hai s6 ¢6 nhieu chir sb, thuong sir dung mot khai

i biéu thire tich qua viéc tim ¢dc thira so. Trong Vi du 1 va Bai tap 7,

o hom vé k¥ ndng nay

(B HHG -
< 1 000 D00

333 333 000 000

-
.
‘-
-
o
-
-
.
]
.
-
-




»

> - .
e

.
-

e

g
e s =

B P ot o mE
=

*F

e T LR
= oy

= E= s

What is the angle formed by the minute hand and the hourhandut el 2 Timedc o

b L o A
o kim gicrva kim phiat khi dong ho chi

[ i q
7 gi0r 10 phit sing




